Combined Gas Law


The Combined Gas Law is a combination of Boyle's Law, Charle's Law and Gay-Lussac's Law. This creates an equation that resembles: 

P1V1 / T1 = P2V2 / T2
Remember that our volumes and pressures must be in the same units and the temperatures must be in kelvin. 
An example of this type of problem: 
1.50 L of a gas is collected at 50.0°C and 700.0 mmHg. What is the volume at 273K and 760 mmHg (standard temperature and pressure)? 
Convert 50.0°C to 323K, now the temperatures are all in kelvin,  700mmHg( 1.50L)/323K= 760 mmHg(V2)/273K, so 
V2= 1.17L. 

